Exercise 5
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Only the attitude motion around X-axis is considered. There are no angular velocity
nor angular momentum around other axes.

(1) FEEICECOVELAL0 [NmIDOE, 1BRICFHEOHEFHEIIENTZT
EETHON?
When external disturbance torque to a spacecraft is 10> [Nm], how much
angular momentum of the spacecraft will be accumulated after one day?

(2) FHEEDEMHE—AFZ1000 [kgm?]|ET HE. FEEOAREIENET
MEENDHH ?
When moment of inertia of the spacecraft is 1000 [kgm?], how much the angular
velocity of the spacecraft will be accelerated?
(3) CHOFEHEDEIERZEMEE—A2EH0.01 [kgm DU T V30 RA—ILEH
WTEHDIEE. VT avRA—IILORERIEIENTZTEHL LN ?
When a reaction wheel whose moment of inertia is 0.01 [kgm?] is used to stop the

rotational motion of the spacecraft, how much the reaction wheel will be
accelerated?
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